
Board 1
North Deals
None Vul

♠ 7 5
♥ A 7 4
♦ K 7 6
♣ K Q J 10 6

♠ 8 6 4
♥ K 8 6
♦ Q 9 4 3
♣ A 5 2

♠ A K J 9
♥ J 10 9 3
♦ 8 5
♣ 9 8 3

♠ Q 10 3 2
♥ Q 5 2
♦ A J 10 2
♣ 7 4

N

W E

S

S 2N; N 1N; NS 2♣; NS 1♠; NS 1♥; NS 1♦; 
Par +120: S 1N+1

North is Declarer and plays in 1 NT.
East may lead ♠ A, but when they look at dummy they can 
see that continuing ♠s will only set up tricks for Declarer. The 
recommended lead, or switch after ♠ A, is the top of the 
sequence ♥ J. This effectively surrounds the ♥ Q as West 
can wait until when Declarer plays the ♥ Q from dummy and 
play ♥ K on it to prevent Declarer from getting more than one 
♥ trick.
Declarer plays on ♣s to force out the Ace and establish four 
tricks in that suit. This will allow them to make the 7 tricks 
required for their contract.

Board 2
East Deals
N-S Vul

♠ 6 2
♥ 10 7 4
♦ Q J 9 7
♣ K Q J 9

♠ Q J 10 3
♥ A K 5
♦ 4 3 2
♣ A 7 6

♠ K 7
♥ Q J 8 2
♦ A K 6
♣ 8 4 3 2

♠ A 9 8 5 4
♥ 9 6 3
♦ 10 8 5
♣ 10 5

N

W E

S

EW 4N; EW 4♥; EW 3♠; EW 2♣; EW 1♦; 
Par −430: EW 3N+1

West is Declarer in 3 NT.
North leads the top of their sequence ♣ K.
After winning the ♣ A, Declarer can see that they cannot 
make enough (i.e. 9) tricks for their contract without getting 
some tricks from the ♠ suit. So they play on ♠, starting with a 
small ♠ to the K (play honour in short hand 1st) and, after 
South takes their ♠ A, Declarer will have enough extra tricks 
to make their contract.

Board 3
South Deals
E-W Vul

♠ 9 6 4 3
♥ K 5 2
♦ J 8
♣ A K 6 5

♠ K 7 2
♥ 9 8 6 3
♦ 6
♣ 10 9 8 4 3

♠ J 10 8
♥ J 7
♦ A 7 5 3 2
♣ Q 7 2

♠ A Q 5
♥ A Q 10 4
♦ K Q 10 9 4
♣ J

N

W E

S

NS 5N; NS 4♥; NS 5♦; NS 3♠; NS 2♣; 
Par +460: NS 3N+2

South is Declarer in 3 NT.
West leads ♣ 10, top of a sequence.
Declarer should win the ♣ lead with the ♣ A or ♣ K in 
Dummy and play on ♦s to get extra tricks from that suit. 
Declarer should start with ♦ J (honour in short hand 1st). After 
the opponent takes the ♦ A, there will be 4 x♦tricks as well 
as 2 x ♣s, the ♠ A and 3 x ♥ tricks for 10 tricks for Declarer 
in total. When the ♥ J falls on the second round - there is also 
an extra trick so that Declarer can make 11 tricks, which 
makes 2 overtricks in 3 NT.

Board 4
West Deals
Both Vul

♠ A 6
♥ J 5 4 3
♦ K 7 4 3
♣ Q 8 7

♠ 10 5 4
♥ Q 10 8 2
♦ A 6
♣ K 6 5 4

♠ K 7 2
♥ A 9
♦ Q J 10 8 2
♣ A 10 2

♠ Q J 9 8 3
♥ K 7 6
♦ 9 5
♣ J 9 3

N

W E

S

EW 2N; EW 3♦; EW 2♣; EW 1♥; 
Par −120: EW 1N+1

East is Declarer in 1 NT.
South leads ♠ Q, top of a sequence. North takes ♠ A and 
continues the ♠ 6 to establish the tricks in that suit for their 
partner.
When Declarer wins the lead with the ♠ K, they should play 
on ♦s, playing the ♦ A and another to the ♦ Q J 10 8. Once 
they lose to the ♦ K they have established an extra 3 tricks in 
that suit to go with 2 top ♣s the allow them to make 8 tricks 
for an overtrick in 1 NT.



Board 5
North Deals
N-S Vul

♠ 10 3
♥ J 10 9 7
♦ J 7 6 5
♣ A 8 6

♠ A Q J 9 6 2
♥ A 8 3
♦ K 9
♣ 4 2

♠ 8 7
♥ K Q 6 2
♦ A 3
♣ Q 10 9 7 5

♠ K 5 4
♥ 5 4
♦ Q 10 8 4 2
♣ K J 3

N

W E

S

EW 5♠; EW 4N; EW 4♥; EW 4♣; NS 1♦; 
Par −450: EW 4♠+1

4 ♠ by W. North leads ♥ J.
Declarer should win the ♥ lead in dummy, so that they can 
start leading trumps leading towards strength from there to try 
the finesse of the ♠ K. They can lead a small ♠ from dummy 
and insert the Q or J from hand, and with the fortunate 
position of the ♠ K, this successful finesse will win the trick. 
As Declarer now expects that South has the K of trumps, they 
can cross to dummy with the ♦ A to repeat the ♠ finesse and 
avoid losing any trump tricks. This allows Declarer to make 11 
tricks for an overtrick in their contract.

Board 6
East Deals
E-W Vul

♠ A Q 8 2
♥ Q 9 5 2
♦ J 6
♣ 10 7 6

♠ 7 4 3
♥ K 7 6 4
♦ Q 9 8
♣ 9 8 3

♠ J 9
♥ A J 10 8 3
♦ A K 5
♣ A 5 4

♠ K 10 6 5
♥ —
♦ 10 7 4 3 2
♣ K Q J 2

N

W E

S

EW 3N; NS 3♠; EW 3♥; NS 1♦; NS 1♣; 
Par −100: NS 4♠×−1

East is Declarer in 1 ♥. South leads ♣ K.
Once Declarer wins the first trick with the ♣ A, they should 
lead a small ♥ to the ♥ K in dummy. They should note that 
South shows out of ♥s, so they know that North has all the 
outstanding trumps, including the ♥ Q. So they should lead a 
♥ back to their hand through North's ♥ Q and win the trick 
cheaply with a lower ♥. This is a "marked finesse" of the ♥ Q. 
After that they need to lead a small ♦ from hand to the ♦ Q in 
dummy to repeat the ♥ finesse and avoid any trump losers. 
This allows Declarer to make 9 tricks.

Board 7
South Deals
Both Vul

♠ K 10 9 4
♥ Q 10 7 4 2
♦ A 2
♣ 8 5

♠ Q 7 6 3 2
♥ —
♦ J 10 9 4
♣ 10 9 6 4

♠ A 8
♥ K 9 8
♦ K 8 7 6 5
♣ K 7 2

♠ J 5
♥ A J 6 5 3
♦ Q 3
♣ A Q J 3

N

W E

S

NS 6♥; N 5N; S 3N; N 2♠; NS 2♣; S 1♠; EW 1♦; 
Par +1430: NS 6♥=

With a good fit and distribution, South upgraded their side's 24 
HCP to play in 4 ♥.
West leads ♦ J (top of a sequence).
Declarer should win the opening lead with the ♦ A from 
dummy. Then they should try the trump finesse by leading the 
♥ Q or ♥ 10, intending to run it to finesse the ♥ K, unless it is 
covered. Later they can lead from dummy towards hand in ♣s 
to finesse the ♣ K & lead ♠ J towards dummy to finesse the 
♠ Q. With all of these finesses working, Declarer can make an 
overtrick in their contract.

Board 8
West Deals
None Vul

♠ A J 10 4 3
♥ 5 2
♦ A Q
♣ K 5 4 3

♠ Q 8 6
♥ 10 7 4 3
♦ K 9
♣ A J 10 2

♠ 7 5
♥ Q J 9 6
♦ J 6 4 3
♣ Q 9 7

♠ K 9 2
♥ A K 8
♦ 10 8 7 5 2
♣ 8 6

N

W E

S

NS 6♠; NS 4N; NS 5♦; NS 2♥; NS 3♣; 
Par +980: NS 6♠=

With a suit fit and good distribution, North upgraded their 
side's 24 HCP to play in 4 ♠.
East leads the top of their sequence ♥ Q.
After winning the opening lead, Declarer should draw trumps 
attempting to avoid any losers by trying the finesse of the ♠ Q 
by leading towards the ♠ AJ1043 and inserting one of the 
intermediate ♠s. As the ♦finesse also works as well as 
leading towards the ♣ K, Declarer may make one or possibly 
2 overtricks in their 4 ♠ contract.



% PBN 2.1

% EXPORT

%Content-type: text/x-pbn; charset=ISO-8859-1

%Creator: BridgeComposer Version 5.112

%Created: Mon May 12 14:26:24 2025 +1200

%BCOptions Center STBorder STShade

%BidAndCardSpacing Thin

%BoardsPerPage fit,2

%CardTableColors #008000,#ffffff,#aaaaaa

%DDAFormat 0

%DefaultPagination 0

%Font:CardTable "Arial",11,400,0

%Font:Commentary "Arial Narrow",12,400,0

%Font:Diagram "Arial Narrow",12,400,0

%Font:Event "Times New Roman",9,400,0

%Font:FixedPitch "Courier New",9,400,0

%Font:HandRecord "Arial",9,400,0

%GutterSize 300,300

%HRTitleDate 0

%HRTitleEvent ""

%HRTitleSetID ""

%HRTitleSetIDPrefix ""

%HRTitleSite ""

%HtmlClubs entity,"https://bridgecomposer.com/suitimg/c.gif"

%HtmlDiamonds entity,"https://bridgecomposer.com/suitimg/d.gif"

%HtmlHearts entity,"https://bridgecomposer.com/suitimg/h.gif"

%HtmlNavBar 0.75,#cfe2f3

%HtmlSpades entity,"https://bridgecomposer.com/suitimg/s.gif"

%Margins 300,200,300,200

%PaperSize 1,0,0,2

%ParaIndent 0

%PipColors #000000,#ff0000,#ff0000,#000000

%PipFont "Symbol","Symbol",2,0xAA,0xA9,0xA8,0xA7

%ScoreTableColors #e6e6e6,#000000

%SectionSpacing 0,0,0

%SelectedBoard 0

%ShowBoardLabels 2

%ShowCardTable 2

%TSTCustomSortOrder Default

%TSTReport List

%TSTReportOrder ByNumber

%TSTReportShade Yes

[Event ""]

[Site ""]

[Date ""]

[Board "1"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "None"]

[Deal "N:75.A74.K76.KQJT6 AKJ9.JT93.85.983 QT32.Q52.AJT2.74 864.K86.Q943.A52"]

{North is Declarer and plays in 1NT.\n

East may lead \SA, but when they look at dummy they can see that continuing \Ss

will only set up tricks for Declarer. The recommended lead, or switch after

\SA, is the top of the sequence \HJ. This effectively surrounds the \HQ as West

can wait until when Declarer plays the \HQ from dummy and play \HK on it to

prevent Declarer from getting more than one \H trick.\n

Declarer plays on \Cs to force out the Ace and establish four tricks in that

suit. This will allow them to make the 7 tricks required for their contract.}

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "5f"]

[DoubleDummyTricks "77778877785665556655"]

[OptimumScore "NS 120"]

[ParContract "S 1N+1"]

[OptimumResultTable "Declarer;Denomination\2R;Result\1R"]

N NT 7

N  S 7

N  H 7

N  D 7

N  C 8

S NT 8

S  S 7

S  H 7

S  D 7

S  C 8

E NT 5

E  S 6

E  H 6

E  D 5

E  C 5

W NT 5

W  S 6

W  H 6

W  D 5

W  C 5



[Event ""]

[Site ""]

[Date ""]

[Board "2"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "NS"]

[Deal "E:K7.QJ82.AK6.8432 A9854.963.T85.T5 QJT3.AK5.432.A76 62.T74.QJ97.KQJ9"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{West is Declarer in 3NT.\n

North leads the top of their sequence \CK.\n

After winning the \CA, Declarer can see that they cannot make enough (i.e. 9)

tricks for their contract without getting some tricks from the \S suit. So they

play on \S, starting with a small \S to the K <i><span style=color:#00f>(play

honour in short hand 1st)</span></i> and, after South takes their \SA, Declarer

will have enough extra tricks to make their contract.}

[BCFlags "1f"]

[DoubleDummyTricks "3436434364a9a78a9a78"]

[OptimumScore "EW 430"]

[ParContract "EW 3N+1"]

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT  3

N  S  4

N  H  3

N  D  6

N  C  4

S NT  3

S  S  4

S  H  3

S  D  6

S  C  4

E NT 10

E  S  9

E  H 10

E  D  7

E  C  8

W NT 10

W  S  9

W  H 10

W  D  7

W  C  8



[Event ""]

[Site ""]

[Date ""]

[Board "3"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "EW"]

[Deal "S:AQ5.AQT4.KQT94.J K72.9863.6.T9843 9643.K52.J8.AK65 JT8.J7.A7532.Q72"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{South is Declarer in 3NT.\n

West leads \C10, top of a sequence.\n

Declarer should win the \C lead with the \CA or \CK in Dummy and play on \Ds to

get extra tricks from that suit. Declarer should start with \DJ <i><span

style=color:#00f>(honour in short hand 1st</span></i>). After the opponent

takes the \DA, there will be 4 x\Dtricks as well as 2 x \Cs, the \SA and 3 x \H

tricks for 10 tricks for Declarer in total. When the \HJ falls on the second

round - there is also an extra trick so that Declarer can make 11 tricks, which

makes 2 overtricks in 3NT.}

[BCFlags "1f"]

[DoubleDummyTricks "b9ab8b9ab82322523225"]

[OptimumScore "NS 460"]

[ParContract "NS 3N+2"]

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT 11

N  S  9

N  H 10

N  D 11

N  C  8

S NT 11

S  S  9

S  H 10

S  D 11

S  C  8

E NT  2

E  S  3

E  H  2

E  D  2

E  C  5

W NT  2

W  S  3

W  H  2

W  D  2

W  C  5



[Event ""]

[Site ""]

[Date ""]

[Board "4"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "All"]

[Deal "W:T54.QT82.A6.K654 A6.J543.K743.Q87 K72.A9.QJT82.AT2 QJ983.K76.95.J93"]

{East is Declarer in 1NT.}

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{South leads \SQ, top of a sequence. North takes \SA and continues the \S6 to

establish the tricks in that suit for their partner.\n

When Declarer wins the lead with the \SK, they should play on \Ds, playing the

\DA and another to the \DQ J 10 8. Once they lose to the \DK they have

established an extra 3 tricks in that suit to go with 2 top \Cs the allow them

to make 8 tricks for an overtrick in 1NT.}

[BCFlags "5f"]

[DoubleDummyTricks "46544465448679886798"]

[OptimumScore "EW 120"]

[ParContract "EW 1N+1"]

[OptimumResultTable "Declarer;Denomination\2R;Result\1R"]

N NT 4

N  S 6

N  H 5

N  D 4

N  C 4

S NT 4

S  S 6

S  H 5

S  D 4

S  C 4

E NT 8

E  S 6

E  H 7

E  D 9

E  C 8

W NT 8

W  S 6

W  H 7

W  D 9

W  C 8



[Event ""]

[Site ""]

[Date ""]

[Board "5"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "NS"]

[Deal "N:T3.JT97.J765.A86 87.KQ62.A3.QT975 K54.54.QT842.KJ3 AQJ962.A83.K9.42"]

{4\S by W. North leads \HJ.\n

Declarer should win the \H lead in dummy, so that they can start leading trumps

leading towards strength from there to try the finesse of the \SK. They can

lead a small \S from dummy and insert the Q or J from hand, and with the

fortunate position of the \SK, this successful finesse will win the trick. As

Declarer now expects that South has the K of trumps, they can cross to dummy

with the \DA to repeat the \S finesse and avoid losing any trump tricks. This

allows Declarer to make 11 tricks for an overtrick in their contract.}

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "5f"]

[DoubleDummyTricks "2237322373aba6aaba6a"]

[OptimumScore "EW 450"]

[ParContract "EW 4S+1"]

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT  2

N  S  2

N  H  3

N  D  7

N  C  3

S NT  2

S  S  2

S  H  3

S  D  7

S  C  3

E NT 10

E  S 11

E  H 10

E  D  6

E  C 10

W NT 10

W  S 11

W  H 10

W  D  6

W  C 10



[Event ""]

[Site ""]

[Date ""]

[Board "6"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "EW"]

[Deal "E:J9.AJT83.AK5.A54 KT65..T7432.KQJ2 743.K764.Q98.983 AQ82.Q952.J6.T76"]

{East is Declarer in 1\H. South leads \CK.\n

Once Declarer wins the first trick with the \CA, they should lead a small \H to

the \HK in dummy. They should note that South shows out of \Hs, so they know

that North has all the outstanding trumps, including the \HQ. So they should

lead a \H back to their hand through North's \HQ and win the trick cheaply with

a lower \H. This is a "marked finesse" of the \HQ. After that they need to lead

a small \D from hand to the \DQ in dummy to repeat the \H finesse and avoid any

trump losers. This allows Declarer to make 9 tricks.}

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "5f"]

[DoubleDummyTricks "49477494779495694956"]

[OptimumScore "NS -100"]

[ParContract "NS 4SX-1"]

[OptimumResultTable "Declarer;Denomination\2R;Result\1R"]

N NT 4

N  S 9

N  H 4

N  D 7

N  C 7

S NT 4

S  S 9

S  H 4

S  D 7

S  C 7

E NT 9

E  S 4

E  H 9

E  D 5

E  C 6

W NT 9

W  S 4

W  H 9

W  D 5

W  C 6



[Event ""]

[Site ""]

[Date ""]

[Board "7"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "All"]

[Deal "S:J5.AJ653.Q3.AQJ3 Q7632..JT94.T964 KT94.QT742.A2.85 A8.K98.K8765.K72"]

{With a good fit and distribution, South upgraded their side's 24 HCP to play

in 4\H.\n

West leads \DJ (top of a sequence).\n

Declarer should win the opening lead with the \DA from dummy. Then they should

try the trump finesse by leading the \HQ or \H10, intending to run it to

finesse the \HK, unless it is covered. Later they can lead from dummy towards

hand in \Cs to finesse the \CK & lead \SJ towards dummy to finesse the \SQ.

With all of these finesses working, Declarer can make an overtrick in their

contract.}

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "5f"]

[DoubleDummyTricks "b8c6897c681517515174"]

[OptimumScore "NS 1430"]

[ParContract "NS 6H="]

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT 11

N  S  8

N  H 12

N  D  6

N  C  8

S NT  9

S  S  7

S  H 12

S  D  6

S  C  8

E NT  1

E  S  5

E  H  1

E  D  7

E  C  5

W NT  1

W  S  5

W  H  1

W  D  7

W  C  4



[Event ""]

[Site ""]

[Date ""]

[Board "8"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "None"]

[Deal "W:Q86.T743.K9.AJT2 AJT43.52.AQ.K543 75.QJ96.J643.Q97 K92.AK8.T8752.86"]

{With a suit fit and good distribution, North upgraded their side's 24 HCP to

play in 4\S.\n

East leads the top of their sequence \HQ.\n

After winning the opening lead, Declarer should draw trumps attempting to avoid

any losers by trying the finesse of the \SQ by leading towards the \SAJ1043 and

inserting one of the intermediate \Ss. As the \Dfinesse also works as well as

leading towards the \CK, Declarer may make one or possibly 2 overtricks in

their 4\S contract.}

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "5f"]

[DoubleDummyTricks "ac8b9ac8b92152321523"]

[OptimumScore "NS 980"]

[ParContract "NS 6S="]

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT 10

N  S 12

N  H  8

N  D 11

N  C  9

S NT 10

S  S 12

S  H  8

S  D 11

S  C  9

E NT  2

E  S  1

E  H  5

E  D  2

E  C  3

W NT  2

W  S  1

W  H  5

W  D  2

W  C  3

�

